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CHEMICAL EQUILIBRIUM I: THE EQUILIBRIUM CONSTANT DATA SHEET

Fe3 (ag) + SCN- (ag) == Fe(SCN)?* (aq).

Part 1 (SOLUTIONS A) : Determination of the Calibration Curve
Reagent Concentrations Solution Vkscn, mL [FE(SCN)?*]eq, M

[Fe(NOs)s], M 1 1.00

[KSCN], M 2 2.00

[HNOg], M 3 3.00

4 4.00

5 5.00

Temperature, °C 6 6.00

7 7.00

8 0.00

Part 2 (SOLUTIONS B): Determination of the Formation Constant for Fe(SCN)?
Reagent Concentrations
[Fe(NOs)s], M
[KSCN], M Temperature, °C
[HNO3], M
Solution |Absorbance | [Fe(SCN)?*]eq, M| [Fe**]o, M | [SCN-Jo, M | [Fe3*]leq, M | [SCNJeq, M K
1
2
3
4
5
Average K :

29




